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Yar | Ri  @®ig) ®Ri-R)P Rm (Rm-Rm) | (Rm-Rm» [ (Rj-Rj}Rm-
Rm)
TR T TR Y 0.0064 0.05 007 0.0049 0.0056
2005 | 026 | 0.4 0.0016 0.13 0.01 0.0001 0.0004
2006 | 0.1 | -0a1 0.0121 011 001 0.0001 0.0011
2007 | 024 | 002 0.0004 0.14 0.02 0.000 0.0004
2008 | 026 | 0.04 0.0016 013 0.01 0.0001 0.0004
2000 | 028 | 0.06 0.0036 0.3 0.01 0.0001 0.0006
2010 | 025 | 003 0.0009 0.15 0.03 0.0009 0.0009
S [t 0.0266 0.84 0.0066 0.0093

Rj=> Rjm =1.54/7=0.22
Rm=) Rm/n =0.84/7=0.12

. o Rm or Var Rm = Y(Rm - Rm)?/n-1
‘ =0.0066/7-1 =0.0011
L

=3 o Rm=Y(Rm- Rm)/n-1 or = Vo’Rm
=vo’Rm  =+0.0011 =0.033 :
o’ Rjor Var Rj = (Rj- Rj?*/n-1
=0.0266 /7-1 =0.0044
s Rj=Y((Rj- Rj)/n-1 or=/o°Rj

=oRj = +0.0044 =0.066

Cov(Rj,Rm) = 0.0094/ 6 = 0.001566

1- Expected Rate of Returns dad gl ailal) Y e -1
Rj =022 or 22%

Rm =012 or 12%

2- B = Cov (Rj,Rm) /c*Rm o by Jawa -2
= 0.001566 / 0.0011 = 1.424

3- Systematic Risk = (B)? xVar Rm Lpalladl) 5 blaa -3
= (1.424) x(1.424) x (0.0011)
=0.0022

4-Total Risk ¢® Rj = Y(Rj - Rj)¥ n-1 4,00 5 hlaa) ~4
= 0.0266 / 7-1
=0.0044

o’ Rj = B* x 6*Ry +a’Rj(c)
5- Unsystematic Risk = Total Risk — Systematic Risk 43U 5 bl -5
o’Rj(c) =0.0044 - 0.0022 =0.0022

6- CV=a Rj/ERj =0.066/0.022 = 3 Ol Mlas =G

7- (rRy, Ry) = COV (R, Rym) /(oR))x (cRn) b)Y Jalaa -7
=0.001566 / (0.066x0.033) =0.001566+0.002178= 0.72 or 72%



